Market share calculations
Question 1: sweets
If there are 3 firms in a confectionary market and market size is £2m
Firm A sells £526,000, Firm B sells £497,000, Firm C sells ???

1. What value of goods does Firm C sell in this market?

2. Calculate the Market share for each of the 3 firms.

3. Is there a market dominator or a market leader in the market? Which firm is it?

4. [image: image1.wmf]If the confectionary market is expected to shrink by 2% next year, what size will it be? 

Question 2: Barbie 
Worldwide, Barbie sales are around £2.3 billion per year, and £150 million in the UK alone – according to Mattel, Barbie’s owner.

1. What’s the UK market share?
2. What is the size of the European market according to the diagram?

3. Calculate the size of each country’s Barbie sales for 2003!
Question 3: Innocent Smoothies
Consumers have turned smoothies into a stunning drinks success story, according to a new report from market researcher Mintel. Demand for smoothies – made from crushed fruit and vegetables – has exploded in the last five years. In 2001 it was £6.3 million and has risen by 523%. Growth is expected to be 31% in 2008.
1. What is the market size in 2006?
2. In 2006, smoothies market value increased by 513% to what size now?
Question 4: Mintel statistics calculate the market size for each of the following
1. Value of fish market is worth £2,295m and has increased by 15%

2. Bottled sauce market is worth £474m and has slow growth by 1.5%

3. The ‘It bag’ the UK sales of handbags rose by 139% between 2002 – 2007…. But things are about to change. The market is now worth £468m. How much was it worth in 2002?

4. Skinny jeans – we spent 1.45bn on jeans last year, and this year sales are expected to reach 1.51bn. How much has the market grown by?

5. Brits change to the dark side (of Choc) sales have almost doubled 96% to £85m this year!

6. Larger Louts….! The market for Larger has fallen by 5% since 2005. Today’s sales are £3.95bn litres. By 2012 sales are expected to fall by 12% - that’s nearly 19 pints per larger lout less than today!

7. Smokers… your market is worth £12.7bn and expected to fall by 3% next year

